Stainless Steel Pull

~ \
—— + ®
TGY TG saans N
[SUS EET A -
> _
i
HNREL TGY
A
N\ o REMHIE,
7T o E5HE (= P.xxxx) BETEA,
* NIt HEE,
£ o TIIRIEF RS R IMEL RIBL
) " [TGY] SMBLY
L‘ TG HWEL
o TG M4 K s ek FH I P /N A 1242 (SUSXMT &), 1518
[TG]mEs B4 MRS (BRA S,
® R, REE 0 rons
~ TGY/TG
. e SL{[S303
ﬁ}j - Bt
M ‘Hk = RNRRE SUSXM7
(RAHBIIRS)
L1 M
‘ L
o RS
TG-24
LA
[p——
B
RS
ERBLHENRS (RASIT N, BEFRESHERREM[-P.
SMRE BAL: mm
3 & *1
ws L A L H h I M ﬁf;ﬁﬁ BE(g)  ERZE
TGY-86 86 6 80 30 24 10 M4 1000 30 LY-10
TGY-108 108 8 100 35 27 10 M5 1000 62 LY-12
TGY-110 110 10 100 30 20 11 M5 1000 89 LY-16A
TGY-128 128 8 120 40 32 10 M5 1000 74 LY-12
TGY-130 130 10 120 40 30 11 M6 1000 114 LY-16
*1: FANNSEEHE.
IR B mm
- WERES __ e BEHHNES
s L A L1 H h Lf M (N) RE(g) ERRE B R~
TG-24 24 4 20 22 18 7 M2.6 1000 4.5 M2.6x8
TG-46 46 6 40 22 16 7 M4 1000 14 LY-10-N M4 x 8
TG-66 66 6 60 22 16 7 M4 1000 185 LY-10-N M4 x8
TG-86 86 6 80 30 24 10 M4 1000 26 LY-10-N  |M4x12
TG-108 108 8 100 35 27 10 M5 1000 55.5 LY-12-N M5x 12
TG-110 110 10 100 30 20 11 M5 1000 82 LY-16-N M5x 12
TG-128 128 8 120 40 32 10 M5 1000 68 LY-12-N M5x 12
TG-130 130 10 120 40 30 11 M6 1000 104 LY-16-N M6 Xx 12
*1: FANNSESH.
7" TRikF - TR ELE = Pxxxx / BHZIED = P.xxxx
WA BN, A ST

N NBK 0512-5290-1560 info@nbk1560-chn.com.cn https://www.nbk1560-chn.com.cn/



